1. dolgozat |2. dolgozat (15(3. dolgozat (50
(15 pont, min.| pont, min. 6 | pont, min. 21 | Beadandd
6 pont) pont) pont) (20 pont) | Osszesen jegy

P51CFU 7 12 36,5 20 75,5 4 J’_
NB9VZC 8 14 47,5 20 89,5 5 J’_
IGK2TG 13 11 32 16 72 4 J'_
039XMC 15 6 37,5 20 78,5 4 J'_
DGB6LT 11 15 445 20 90,5 5 J[_
LH2GDM 10,5 8 42 20 80,5 4 Jr
O2F9UuV 13 13 45 20 91 5 T
FJ4031 12,5 6 30 20 68,5 3 J'_
D2VJG4 11 6 33,5 20 70,5 3 .’—
M6RSOT 11,5 6 30 18 65,5 3 .’_
CKCRU1 10 12 445 18 84,5 5 J’_
HWOCJG | o ] C
JDVHXF 10 10 42,5 20 82,5 4 J'_
IWDKA3 12,5 10 35 18 75,5 4 J'—
17Z21Q0 12 13 26,5 20 71,5 4 J[_
PNARIJ 13 13 | 26 | =
EBOGJB 9,5 12 28,5 10 60 3 .F
IULJVS 9,5 8 25 20 62,5 3 J'_
F2NAFK 15 15 25 20 75 4 Ir
R3MTJI | o ] =
EXRXYR 12 15 21 20 68 "_
GI741Q 15 15 37,5 20 87,5 |'_
GCJ8PO 12 12 39 18 81 "_
I9WGLZ 6 4 | 10 | r
TIATWH 10,5 4 30,5 20 65 3 ‘[_
HDS680 6 8 40,5 20 74,5 4 ‘r
CNMDHO 14 15 41 20 90 5 -
G9ZDIM 15 13 28,5 20 76,5 4




